ERURESA

N.B. (1) All questions are compulsory

Q1. Attempt any FOUR from the following:

Paper / Subject Code: 80910 / Mathematical & Statistical Techni ;

Max Marks: 100

(2) Figures to the right indicate full marks
(3) Graph papers will be provided on request
(4) Use of simple non-programmable calculator is allowed

SECTIQN

a) Mr. Vijay invested in shares of face vali
of Rs. 62.40. How many shares did he'pur
b) A person sold 400 shares at Rs 55
received by him? Rty
¢) Ms. Aayushi invested Rs. 1800

redeemed all the units whe
the rate of return? There
places.)
d) Mr. Sachin invested Rs: 30,000 a mutual fu 3/05/10-when its NAV was Rs.

(5)
for 5 months in an SIP of a
Rs. 28.25, Rs. 35.57, Rs. 38.45
(o;adlof 2.22% for all these months. Find

&)
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Paper / Subject Code: 80910 / Mathematicai & Statistical Techniq“l‘,‘ii‘efs-lj_

d) Solve the LPP graphically:
MinZ=7x+y
subject to
x+4y>4
3x+y>3
X,y>0

f) A diet of a sick person must contain atleast 4000'

1400 calories. Two foods F1 and F2 are vaﬂa

respectively. If one unit of F1 contams 200 umtsz

calories and one unit of F2 contalps ,(IQDOQ;umts‘»@
calories. : ' ‘

Formulate the LPP to minimriiefthé\

&)
®

b) Calculate the mean and mode for tk
Age in years | 10

No. ofPersons. @' iy

hence evaluate the coe’f i
Marks 0 20 60-80 80-100
No of Studen‘ts . 24 16

. the standard dev ion foif_the gwen data (5)

10 15 15-20

_ Weights in kgs 15

it 20-25
L No of chlldren

25-30

e) Calwlate the comblne mea .of the two groups for the following data and hence check

whzch group is more con, stent 5)
» ST A Group [ Group II
~« Number 100 200
- “Mean 50 45
&'S.D. 5 3
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Paper / Subject Code: 80910 / Mathematical & Statistical Technilgf‘lj

Q4 Attempt any FOUR of the following

b) If A and B are two independent events and P(A)—— P(B)g

(where A’ is complement of A)

subJect (ii) in only one subject ]‘ v %

6))

&)

Events e fa.. : A
Actmns 1 o S3

c) Determme the best demSLon accordmg to Mmlmax Regret criterion for the following pay

SOff matrixy £ S 5)
k'EventsL Actlon@ A B C
CSES S EE 10 12 25
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Paper / Subject Code: 80910 / Mathematical & Statistical Techniqﬂ;iés

d) Given the pay-off matrix, solve the decision problem using E

States of nature
Action E1 E> E;
P 15 14 10
Q 13 15 12
R 17 16
Probability 0.5 0.4
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